1.

@ 2

® 101



2. = Sl Wt f(x) + 2, xf(x) + 27 BE QA x -2
throlgold o, £(1) 9 g FotE?

D -2 ® -1 3 0 @ 1 ® 2



229 A7k 191 % o]ah Tl £(), g(x
2 A3 &3 + 2x2 - 5x - 6°]Th f(

)Q@-O]Qx +5x-30]1
0) = g(0) = -6 o,
£(2) +g(-1) 9] g2

D 9 ® 11 3 13 @ 14 B 15



4. L= —1—;\/_1

——]_oq Z2005 +22005 __:{ %}\_o —5—]_?3?

@‘”2@' @ -1 @‘1‘2@'

@ 1 ® V3i



H+
S
o
— .
H ol
BN L.a
+
S
I <
Ok
=XV
TE
oS
1:w| .
3T
)
o 10
rJ ¥
e
) mjn
TS
(an)
" I
L3
H ~
43
= o
T 5
%o T
LlO —~
o~ o

5.

® -12 ® 15 @ -15 ® 18

D 12



6. xofl W LA 21| -x—k=00] AR T2 ] o AL
7Hd w, ko] gkol MeE oY

(:>1<k<45 @Z Z @_5<k<_Z
k<1, k> - = <1
@ k< > @5



=2 +2x -39 AL} xE3} TsE HE A

C 2t g o, AABC 2] Ho]=?

yl\

\ o

A B T




ok, ol Hol7k A w, xo] ghe?

® 5cm 3 6cm @ 7cm 3) 8cm

D 4em



9. A:O.4—0.25x$1.5x—1.35,B:—1_42x< Q;X—x;ﬂ Tk A
oA BE ALt =7
O x<1 @ x2>1 @x<%
@x<E @ng

16 16



10.

A xoll Histe [x] & x

OIZHEEA 2 [ ~ [+] -

D -1<x<2
@ x<1

£ 97 9t A9 35S ey

6 <09 siE Ht=A -3 A2?

@ x<-1 ® x>1

® x<-1, x>2

ro

o}



x<-1, x>2,2x2+ (5+2a)x+5a < 02 &

@ -2 3 1 @ 2

AE =k

H
=)
A% 0l ghol x = 22U 0, 4% a0 AP (Fa< )

B -5



B 442

@ 27

11 3 5

@)

D V2



13.

A2 4+y2+4x+2y+4 = 0 Y& =20l = A P oA 24H 3x+4y = 10
7219 AYE d(p) 2t & Wl d(p) o] AF2?

@D 2 @ 3 B 4 @ 5 ® 6



@ 342

3 243

@ 42

® 4



15.

@ 2 74

@ 4 7§

T a’
b #0) 2 AFog o, I
Aol 5 FehH?
@ 16 7 ® 32 7



16.

22 A3t A = (x| x= 20 g &5
HAREBRGO] |4 v =2 A 415 A7
@ 5, 31 @ 6, 63
@ 8, 255 ® 9, 511

} ol Hiske] a0 Aot

® 7, 127



© 1leC, 3eC




Aot A = (x| xE 10 o]5F2] A=) of Histe] tha& TEste A
o] 7} ot
@ XcA © 2eXx ® n(X)<3

=R 7R

X



19.

Yl 7Re]l 24 p, g, r, soll k] g =~ s,
s=refe 225 A7 QS o2 S 28

O p=gq @ p=>~r

@r:s @~s:>q



@ va+ Vb= Va+b
® a®+0b*>abla+b)
@ a*-1>a

® (a+b)(b+c)(c+a)=8abc






22. f(x)=3r+2 WA g(x) 7 (g o £ (x) = 3x B
o, g(2) o] a7

D1 @ 0 ©) @ 3

Wl =

2



o | <

™M |

— |

@1

D 2



1+x

7t siet. o] el x,

=
geﬂ}/‘lf%‘%ﬂib‘r oF
=)




25. 0<a<lolllx=a+ - O]‘IH Vx2 -4+ x5 a2 YJERH?

D 2 @ 2

a

@—% @ 21 0



